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The Market

i 19 28 5%

What is to be done?

Lenin

In the closing years of the first decade of the twenty-first century it is increasingly difficult for
those in western economies to imagine how peoples in neighbouring countries were denied the
opportunities and potential for individual achievement that they have had. In particular, when
future historians look back on the close of the twentieth century, one of the most sweeping
changes they will note is the collapse of centrally planned economies in eastern Europe. It is not
far off to say that the cold war between the western allies and the Soviet Union was won not by
the armies of the Allies, but by the productive power of western market economies. Mikhail
Gorbachey, then leader of the Soviet Union, concluded that his country’s economy could not
afford to continue its global military competition with the United States. The Soviet economy



2 CHAPTER 1 THE MARKET ECONOMY

was simply too inefficient. He set his country on a new, more market-otiented course, in the
process touching off political and economic upheavals.

Why did centrally planned economies fail while market. systems survived? Gorbachev’s
own words provide some insight, In a 1987 speech, four yem he@mt tlge Boviet Union’s
abandonment of communism, he noted that, “one can see childr
ball in football”. Presumably, Gorbachev was irked by the wasteﬁ:tlnes&@fﬁslﬁg bread for child’s

‘ﬁﬁn‘galmfnfmaasa. po

play, but even if Gorbachev was irritated by seeing the bread squandqted, one smll’wandeﬁs why 2

he bothered to bring it up in a major speech. To think about s issue, ohE mmt ask why'
the Soviet youngsters were playing with the bread in the first place: %e nswer is that Soviet' .
consumers did not put much value on bread because the price they-paid for it was véby low,
Provided that they could buy all the bread they wanted at this lowprice; why walid conisumers
bother to economize on its use? If a loaf of bread cost only the eqmvalem of a“fevw» génmes, whyv
not let the children have a little fun by playing football with it?

We think that Gorbachev may have related this anecdote because he vnewed it as symp-
tomatic of the problems facing the Soviet economy. In 1987 the prices of all goods were set by
central planners in Moscow. In many cases, commodities were priced so low that consumers felt
no compunction about being wasteful. Moreover, many prices were set below production costs.
In such cases, producers had little incentive to bring their wares to market: “[M]uch food rots
long before it gets to the grocery store . . . Supplies are sporadic — butter one day, none the next
— 50 most shoppers cruise the stores daily and hoard whatever looks interesting, just in case”
(Keller 1988: A6). Other economies based on the Soviet model experienced similar problems.
Polish prime minister Zbigniew Messner, for example, complained: “There are . . . erroneous
motivational systems, shortcomings in the organization of labour, lack of respect for social
property” (Tagliabue 1987: 11). These difficulties were an important reason for the political
upheavals that swept eastern Europe, beginning in 1989 and ending with the overthrow of com-
munism. Thinking about why centrally planned economies had such difficulties will help us
define the subject matter of economics and the purpose of this book. '

1.1 Scarcity and Economics iRz ife

The difficulties of the centrally planned societies were a consequence of the way in which they
dealt with the phenomenon of scarcity. Virtually all resources are scarce, meaning that there are
not enough of them to satisfy all the desires of all people. By “resources” we refer not only to nat-
ural resources (oil, trees, land and water) but also to human resources (labour) and capital
resources (machines and factories). An important implication of the presence of scarcity is that
people and societies must make choices among a limited set of possibilities. The choice to have
more of one thing, like bread, necessarily means having less of other things. In the Soviet Union
these decisions were made by central planners; in effect, Gorbachev was complaining that this
approach to dealing with scarcity was leading to undesirable results. Indeed, in a subsequent
speech, he was more explicit: “The tendency to encompass every nook of life w1th detailed cen-
tralized planning and control literally straitjackets society.”
The problem of scarcity is not confined to centrally planned economies. All
B © societies must make choices about how to use their scarce resources; the way that
Al Fak 2 gk - Societies differ is in how these decisions are made. Economics is the study of how
WA G022 people and societies deal with scarcity. The subject of this book is microeconomics,
; - which focuses on the economic behaviour of individual decision-making units. The



1.1 SCARCITY AND ECONOMICS

prefix micro, which means “small”, is somewhat misleading. To be sure, micro-
economists spend a lot of time analysing the behaviour of relatively small decision
makers, such as individual households and firms. However, microeconomists are
equally concerned with the big picture — how these individual decisions fit together

and what kind of results they produce for society. However, we exclude a systematic |
treatment of how the economy-wide inflation and unemployment rates move over -

time (the business cycle). These topics belong in-the realm of macroeconomics,
which focuses on the behaviour of the economy as a whole, with less attention
devoted to the activities of individual units.

The Three Questions =AHA

Because of scarcity, every society inescapably has to answer three questions:

1 What Is to Be Produced? % ##

As already stressed, in the presence of scarcity, producing more of one thing means
producing less of another. A society therefore has to choose how many compact disc
players, ballpoint pens, missiles, or any other commodity it is going to produce. This
" leads us to an important concept in economics: opportunity cost. When more of
commodity X is produced, resources are used up. These resources could have been
used to produce alternative commodities. The most highly valued of these forgone
alternatives is the opportunity cost of X. Essentially, the opportunity cost of some-
thing is what you give up by having it.

US president Dwight Eisenhower showed a keen grasp of the concept of oppor-
tunity cost in this discussion of the true cost of defence:

W12 5
%YM — A 5
%, EEHFRAN
PIHLL, MK
E Gl % B 22
ik, URXEA
S92 0 £ B
fE—ih,

BWBFF
ZHEH— 10
%, EBRWRETF
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T 9 A5 3k T 43t 7k
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Every gun that is made, every warship launched, every rocket fired signifies, in the final sense, a theft
from those who hunger and are not fed, those who are cold and are not clothed. This world in arms is
not spending money alone. It is spending the sinew of its labourers, the genius of its scientists, the

hopes of its children. (Ambrose 1984: 95)

The notion of opportunity cost is as applicable at the individual level as at the societal. Consider,
for example, a peasant from China named Xiong Qiangyun, who proudly told a reporter that his
son was in college: “It’s been expensive, so I haven’t been able to build a very nice house or buy a
television. But my boy’s in college” (Kristof 1992: A15). The opportunity cost of the education of

Mr Qiangyun’s son was the consumer durables forgone by the rest of the family.

The Infinity of Outer Space Appears to be Constrained Too!

It B Y S 2 22 1] 1] R 1 SR 0 ) B A7 PR A

Whatever the scale of the choice being made, there will always be an opportunity cost; whether it
is a government deciding how to allocate its tax revenues on public spending or an individual
person deciding on how to spend their income as we saw with the Chinese peasant. In both

cases, the choice will have an opportunity cost that measures the value of that choice.

To contrast the Chinese peasant case, consider the European Union and the spending alloca-
tion of its budget. In late 2007*, the Commission of the European Union faced a significant  »
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choice and, while the scale of it was very much larger than Xiong Qiangyun’s simply in absolute
euro value terms, the process of making the choice with its own opportunity cost was exactly the
same.

In its desire to maintain a presence in the race with the US for new global posmomng satellite
(GPS) technology, the EU Commission decided to invest a further €2. 7 billion on its struggling
Galileo project. The money could not be raised from further taxation and had to come from
the EU’s existing budget. As a consequence, spending on some other activity had to be reduced.
In this case, the decision was made that the agricultural budget would be reduced to free
up money to spend on space exploration. Here, then, the opportunity cost of continued space
exploration is support for farmers across the Union.

* Based on “US Acts to Retain Lead with GPS”, The Financial Times, 20 September 2007.

2 How Is It to Be Produced? %2#4 #+

In the children’s story “The Three Little Pigs”, we are told that a house may be constructed out of
straw, sticks or brick. This illustrates the important point that even after deciding what we want
to produce, we have to decide how to produce it. Should houses be constructed of wood or
should brick be used instead, so that the wood can be used for fuel? Perhaps straw should be
used for housing, but then less would be available for fodder for livestock. Given that all
resources are scarce, society must decide which resources to allocate to the production of various
commodities.

3 Who Gets the Output? # %# 7 &

AERE Because of scarcity, no one can have all of everything that he or she wants. Every soci-
¥ 2 % 0 i g 4= €ty must develop some kind of mechanism for dividing up the output among its
P members. And in every society, the question of whether this mechanism leads to a
& ik e “fair” distribution of the output is likely to be the subject of intense debate.

MR Z 8 LA Rat
2 R R Z [ 317
SrBL.

The way that our three questions are answered is referred to as the allocation of
resources — how society’s resources are divided up among the various outputs,
among the different organizations that produce these outputs, and among the mem-
bers of society. Although every society has to decide how to allocate its resources,
societies differ greatly in how these decisions are made. As noted earlier, in centrally
planned economies these decisions are made by government bureaux. In contrast,

% ?ﬁ?gf;;g o societies like Germany, France, the UK, the United St.artes anfl .Aus’tralia rely more
S 6 T 28 % 0 A heavily on a market system, in which resource allocation decisions are determined

by the independent decisions of individual consumers and producers, without any
A ML ontra) direction. Because the market system is the most important mechanism for
RAAT S PFRIE  resource allocation in western societies, it is the main focus of this book. Our goal
i — ALK,

is to understand how markets work, and to develop criteria for evaluatmg market
outcomes (PC 1.1).

1.2 Models ##E

The task that we have set ourselves appéars daunting indeed. In any large economy there are
millions of products, consumers and firms. In a market system, consumers and firms all make
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Progress Check 1.1

Evaluate this statement "Saud| Arabia can pump all the oil that it needs Therefore con-
sumption of oil is free in Saudi Arabla 7

their own decisions; we have to understand how these decisions are made and

how they fit together. How can we possibly hope to encompass all of this complexity? i

The answer is that we won’t even try. Instead, we study how economies work using =< U AL & 9 L
models, which are descriptions of phenomena that abstract from the details of reality, 1 Ut 89 — 50 i f£
By “abstracting” from details we mean ignoring those details that are not essential & &, il % @
to understanding the phenomenon at hand. That way we can concentrate on the JEFERE,
really important factors. A classic example of a model is-a road map. If you are trying

to drive from Frankfurt to Cologne, you do not want a perfectly “realistic” description of the

terrain that shows the location of every road, every house and every hill. Such a map would be

so complicated that it would be useless. Instead, you want a map that abstracts from most details

of the terrain and shows only the main roads and where they intersect.

A Model of Educational Choice #riksayEn

You might never have thought about it this way, but like the Chinese peasant mentioned previ-
ously, your decision to attend university implicitly involved a choice in the presence of scarce
resources. After all, you and your family only have so much money; spending it on tuition means
having less available for other things. Even if tuition fees were zero, university would still be costly
because your time has an opportunity cost - the time that you spend in education could be spent
working, for example. Let’s construct a model of the decision to attend university. Such an exer-
cise will not only give you a good idea of what an economic model really is, but it will also intro-
duce you to the way that economists typically approach problems.

Our simple model is based on the assumption that people make educational decisions on the
basis of monetary costs and benefits. What are these monetary costs and benefits? As already
suggested, some of the opportunity costs are explicit or direct (such as tuition and books); in
addition we must take into account the opportunity costs of the student’s time. On the benefits
side, each year of education leads to some increase in the person’s earning capacity ~ better-
educated people get higher-paying jobs. Our model posits that, before deciding to enrol in
university each year, an individual considers the monetary costs and benefits of doing so. If
the additional monetary benefits exceed the costs, he enrols, and otherwise not. For example, if
attending the first year of university costs €10,000 but this will enhance your lifetime earnings by
€15,000, then you go to university. On the other hand, if it enhances your earnings by only
€8,000, you do not. Why pay €10,000 to obtain a benefit of only €8,000?

Now, this model may strike you as being absurdly simple. It does not allow for the possibility
that someone is in university just because his or her parents insisted on it. Neither does the
model take into account that some people simply enjoy learning and are happy to pay tuition
even if their future earnings aren’t enhanced at all. However, the whole point of model building
is to simplify as much as possible so that a problem is reduced to its essentials. Omission is the
beginning of all good economic analysis. A model should be judged not on the basis of whether
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or not it is “true”, but on whether the model is plausible and informative. If e model founded on
the assumption that educational decisions are based ot monetary returns gives us good predic-
tions, then it is useful, even if it does not encompass every possible explanatton or predict the
behaviour of every single individual. :

Sometimes, however, a model can be too simple for one’s purposes. For mstance, suppose
that it is harder for students from poor families to borrow money than it is for those from rich
families. Then students from poor families may not be able to borrow enough money for
tuition, even though attending university would greatly enhance their earnings. If such borrow-
ing constraints are really important, then a model that ignored them would not produce very
good predictions about educational decisions. A model must be as simple as possible, but not
too simple! How do you know if a particular model is too simple? Unfortunately, there is no easy
answer. If the model appears to be doing a good job of explaining the problem at hand, then
there is no reason to complicate it further. Economists have found that models that explain edu-
cational decisions on the basis of financial returns doa pretty good job of predmctmg people’s
actual decisions. (See, for example, Blundell et al. 2000.)

So far, our model of educational decisions has used only words to describe the phenomenon;
At is a verbal model. Verbal models are fine, but sometimes our understanding is enhanced when
models are represented graphically. In Panel A of Figure 1.1 years of education are measured on
the horizontal axis, and euros are measured on the vertical. The schedule labelled MC shows the
cost of each additional year of school for a student whom we’ll call Berthold. In economics, the
word marginal is used to mean “additional”, so the additional cost is called the marginal cost. The
marginal cost is drawn sloping upwards, reflecting the assumption that the additional cost of
each year of education increases over time, perhaps because tuition rises or because forgone
wages become higher as the student becomes more educated. The schedule MB shows the

<] A o] B
R I 3
25,000 . 25,00
MC (marginal cost)
20,000 20,000
MC
15,000 - 15,000 +
IN\MB (marginal benefit) ' e
10,000 - ; 10,000 - 3 (new
' ‘ E marginal
5,000 | i 5,000 | P esy
-------------- jroereenaaeeo o M8
8 9 10111213 14 15 16 17 18 8 9 10111213 14 15 16 17 18
2 ——
Years of education Increase in schooling
Years of education
Figure 1.1 A Modei of Educational Choice
Assuming that schooling decisions are based on monetary motives only, an individual attends only as long as the
marginal benefit exceeds the marginal cost. In Panel A, to the right of 12 years the marginal cost exceeds the.marginal
benefit, so the student does not attend more than 12 years. Panel B embodies a prediction: if the marginal costs of
school attendance fall, a person will spend more time in school.
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marginal monetary benefit of each year of schooling for Berthold. It is drawn sloping down-
wards, which reflects the assumption that as more education is purchased, the amount by which
it increases future earnings gets successively smaller. For example, the eighth year of schooling
increases Berthold’s lifetime earnings by €20,000. His seventeenth year increases lifetime earnings
by €4,500, a smaller increase, but an increase nonetheless.

What is the Cost of a Business Degree? 4R TR0 B s A

While we have seen that the financial return to further study influences whether an individual
decides to remain in education, we have to recognize that these returns will be dependent on the
subject chosen to study. For example, concern has been expressed in France® that students enter-
ing universities are shunning art, literature and cultural studies in favour of degrees that can
generate higher earnings on completion of study such as business studies and economics.

We can identify two elements to the process of making decisions here. The first is whether
students decide to stay on to study at university; we can identify the opportunity cost as we
know that it is the earnings forgone. The second element is that individual student choice is
based on studying a specific subject and students are now making a choice for which the oppor-
tunity cost is the subject forgone. Maybe the opportunity cost of studying an arts degree (the
gain in earning potential from studying business or economics) is just too great for students —
even those who would otherwise want to study arts subjects.

Many western economies are keen for more of their workforce to have a degree qualification
and deciding to stay on is seen as a positive benefit. However, the choice of subject is a more
difficult matter, since what is good for the individual might not be viewed as “good” by the rest
of society. Many politicians and cultural commentators raise concerns about the long-term
preservation of French cultural heritage and literature as the number of students taking degrees
in these areas declines. As we will see later, though, the fact that returns to degrees in business
and economics are high suggests the economy values those who take them more highly than
those who take art and literature degrees.

* Based on “French Literature Pays Price as the Language of Money Lures Students”, The Times, 12 September 2007.

How much education does Berthold consume? Note that at any level of education to the left
of 12 years, the marginal benefit exceeds the marginal cost. Hence, from a monetary point of
view, taking another year of education makes sense. On the other hand, at any level of education
to the right of 12 years, the marginal benefit is less than the marginal cost. Our model therefore
predicts that Berthold will enrol in school for just 12 years, the point at which the marginal
benefit of a year of education just equals its marginal cost. The notion that sensible decision
making requires an individual to set marginal benefit equal to marginal cost is sometimes called
the equimarginal rule, and it will be encountered in various guises throughout this book.

Now suppose that Berthold’s circumstances change. The marginal cost of each year of
Berthold’s education goes down, perhaps because of a decrease in current wage rates.
(Remember, forgone wages are part of the cost of education.) Assuming that the marginal
benefits stay the same, the new situation is depicted in Panel B. Similar logic to that of Panel A
indicates that with lower costs Berthold chooses to be educated for 14 years. (He would attend
two years of university.) A comparison of Panels A and B reveals an important function of models:
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- they allow: us to make predictions of how behaviour will change when circumstances change.
This is crucial, because it permits us to test whether the model is doing a good job. As stressed
above, if the model provides us with good predictions, it is fine. On the other hand, if the
model is not consistent with real-world observations, it must either be modified or discarded
altogether. As the Chinese leader Deng Ziaoping said: “Seek truth from facts.”

Models can be mathematical as well as verbal or graphical. Let MB be the marginal benefit of
each year of education and MC the marginal cost. Then our main result is that people purchase
education up to the point that the marginal benefit equals the marginal cost. This notion is
expressed mathematically as

MB=MC

The nice thing about mathematical equations is that they allow us to summarize a model
very succinctly. In this book, we will rely on all three types of model: verbal, graphical and
mathematical (PC 1.2).

Interestingly, a methodology based on model buildmg is by no means limited to economics.
It is employed in “hard sciences” as well. The great theoretical physicist Stephen Hawking (1988:
11) observed: “A theory is a good theory if it satisfies two requirements: It must accurately
describe a large class of observations on the basis of a model that contains only a few arbitrary
elements, and it must make definite predictions about the results of future observation”
[emphasis added]. Like the economy, the physical world is too comphcated to be studied with-
out recourse to models.

Progress Check 1.2

Suppose that there is a reduction in the margmal monetary beneﬂts to attendmg school. Use
Panel A of Figure 1.1 to predict how this would affect educatlonal decisxons

Posmve and Normative Analysis A SRS 7

We will use models for both positive and normative analysis. Positive analysis deals
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with statements of cause and effect. For example, a positive statement is: “If the
KT A FES R \s g . .
R R German government cuts tuition subsidies to students from middle-income house-

holds, then the number of such students attending university will decrease.” Note
that a positive statement can in principle be confirmed or refuted by appeal to real-
world observations. In this case, what you would have to do is determine whether enrolment of
middle-income students actually fell after the subsidies were decreased.'

Positive statements do not indicate whether the phenomenon under considera-
tion is “good” or “bad”; they merely attempt to describe the-world. In contrast, norm-

Wiﬁ%ﬁ: i ative analysis deals with statements that embody value judgements. The assertion,
i% e ' “All individuals who want to attend university ought to have free tuition, is a norm-

ative statement. One cannot confirm this statement by appealing to data; its validity
depends upon one’s ethical views. Keeping pesitive and normative views separated is
sometimes difficult, but it is worth trying hard to do so. One’s views about how the world is
should not be clouded by opinions on how it ought to be.



